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(20%) 1. Find the inverse matrix of the following matrixes.

[ cosf sind
(1) .
| —sind  cosd
0 2 0
[:f} 4 0 0
0 0 5

(20%) 2. Use Fourier series to express the following functions.
1) fix)=x* {0<x<2m)
B T
-1 if O<x< >

@) flx}=

LU 4 %{xciﬁ

(20%} 3. Use Taylor expansion to find the Taylor series of the function
f(z}-—"% atpoint z=1.

(20%) 4. Solve the following initial value problems.

- | (1) ¥+hy=e", (0)=01
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@) y'+xXy=4s, y(0)=-1

{20%) 5. Find the unit vector A that is perpendicular to U=2/ +j-£ and



